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Year 11 
NETWORKS 

1. A communications channel capable of only sending one signal is referred to:
(a) bandwidth 

(b) cheapness
(c) broadband 

(d) baseband 
2. A modem is a device that:
(a) Converts between analog signals and digital signals

(b) Converts between base and broadband signals

(c) Receives data from a satellite

(d) Sends data via direct line of sight. 

3. The network used to join all of the ANZ Melbourne branches would typically be a: 

(a) bus 

(b) LAN 

(c) WAN
(d) car
4. 
The transmission signal that looks like a wavy line is

(a) analog 

(b) digital 

(c) coaxial
(d) firbre optic 

5. The benefits to a business organisation of a company intranet would include 

(a) free icy poles 

(b) reduced paper usage 

(c) universal access 

(d) both b & c 

6. Which of the following devices use radio waves to send and receive data.
(a) infra-red devices 

(b) stand alone computers.
(c) a Network Operating System 

(d) blue tooth enabled devices 

7. I diagram that shows pictures of switches, workstations and servers is described as:
(a) an organisational diagram
(b) a physical diagram 
(c) an overall diagram 
(d) Illogical diagram
8. Data transmission made up of a single copper wire, insulated by mesh and rubber is:
(a) An extension cord

(b) wireless radio
(c) fibre-optic cable 

(d) coaxial cable 
9. A data flow diagram represents the:
(a) graphical representation of a home network
(b) logical design of an information system.
(c) logical design of a refrigerator. 

(d) graphical representation of a school network
10. A computer network is required if:
(a) the users wish to share hardware between multiple computers 

(b) play 1980s stand alone platform games 

(c) share software between 2 or more computers
(d) A &C 
11. 
(a) Explain how a computer could be identified on a network.
By its “computer name” or by its IP address.
(b) Explain how a computer network authenticates a would-be user. 

By means of a username and password implemented by a web server or communications software.
(c) Explain what a firewall is.

A security measure consisting of a combination of hardware and software that limits the exposure of a computer or computer network to attack
(e) What is biometric verification?
A security science where body or physical attributes are used for secure identification and authentication, such as fingerprints, voice patterns, face geometry, hand geometry & retinal scans.
12. Classify each of the following computer system components as being primarily used for 

I: input or O: output or C communication or P: processing or S: storage 

(a) Digital camera 


(b) Online ordering form.
(c) DVD burner


(d) USB stick 

(e) modem 



(f) Projector
(g) Keyboard 



(h) network interface card (NIC) 

(i) DVD



 (j) head phones
13. Explain the purpose of a proxy server and where it would be placed in a network.
A hardware server that acts as an intermediary between a work station user and the Internet so that an enterprise can ensure security
14. (a) Explain what a client and a server are in a client/server network. 

Client-server networking is network setup that utilisers ‘servers’ to feed information to workstations or ‘clients’. Multiple clients can operate from just one server.
      (b) Explain what a peer-to-peer network is.
Is a network setup in which users designate a portion of their resources (such as files) and allow it to be directly available to other network participants, without the need for central hub or server.
15. Which of the following statements best describes a ring network setup?
(a) Data is shared from a server computer. 
(b) The cheapest and easiest to install. 
(c) The system is designed in a star shape
(d) One failed computer may make others inoperable.
16. Complete the following statements using one each of 

hub or network interface card (NIC) or network operating system (NOS) or switch .
(a) Novell is an example of a (an)____Network operating system_
(b) All computers in a network require a __NIC__  
(c) A device that sends data directly to another device over a network is called a Switch 
(d) The cables of a home network can be linked simply with a____Hub
17. Explain the difference between a Level 0 data flow diagram and a Level 1 DFD
A level 0 DFD shows the flow of data within a specific process or entity (shown in a context diagram) It is made up of processes, entities, data flow and data stores)
A level 1 DFD shows the flow of data within an individual entity or process in a level 0 DFD.
18. For each of the following choose the correctly matching cable from 

T: twisted pair or C: coaxial or F fibre-optic 
(a) The oldest of the above cables.


C
(b) Can be used only over the shortest distances. 
C
(c) The cheapest and easiest to install. 


T
(d) Comprises of 8 thin cables individually wrapped in insulation.  T
(e) Uses light to transfer data along small glass or plastic shards 
F
19. 
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From the above extract from a Data Flow Diagram (DFD) 
(a) Identify Customer is called a(n) ……………Process
(b) Customer List is referred to as a(n) …………Data Store
(c) Order request is called a(n) ………………Data Flow
